|

={z|ze= 99 %5}, B={z |2 10 17| &} Afo]o] HAE
e s et 100



2. ol golo] 2o A n(U) = 57, n(A) = 30, n(B) = 25, n(A°N B°) = 14
A o, AR o] el Ao A4 ee?

U
@ZBD

@ 127 @ 1474 ® 197 @ 24 7) ® 3874



T A% A={a—3,2,6,7}, B={1,2,3b,2a—1} | tis}s] AC B, BC A
A, o+ b 9 g F3todat.



4. F AT A Bo|lHstd n(A-B)=3, n(B—A)=5, n(AUB) =12 & o,
n(AN B) € st}



= {a, ¢, ¢} o H5td A A 9]

Yol A58 Fotol,






HAYH U S 1 F RRYG A, BRI 2E 1, AN B BE 949
Fe Fotofel,

[17]
H7]

U = {z|zE 10 o|5}e] ArA=}
A: {27 47 57 8}
B¢={2 4,6, 7, 9}




8. T 1% A= {alzx 120 o]k 59 HlS), B = {afat 120 o|5}k9] 89] w5}
of thste] n(A U B) 9] S Fatofet



)

@)
</
O N
C |
CN)
| D
T 2
Q@ ©
o O
- |
2 o
| D
o]
,_ma © ©

® (AnB)UC



o B




11. AAAR U of + F2Ht A, Bol distl AuB={1, 3,5, 7,9} ,A-B=
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@ n(U) =9
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ol HF B O Mprt 2478 &4 wf Ht A O A S a2t W 2 9
27

@1 @ 2 ® 3






